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1. Which is the graph of y = 3x — 7?
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2. Which equation represents the line graphed below?
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3. Points W, X, V, Z are collinear on Iinefin the coordinate plane. Triangle XVY and Triangle WZR
are similar.

Which proportion indicates that the slope of Iinefis the same between any two distinct points?

A V¥ _ZR
¥  RW
B. ZR VY
¥ RW
c. X¥ _WR
V¥~ ZR
D. WR X¥
¥ ZR

4. The hypotenuse of two similar right triangles is formed by the same line.
Which statement is true of the slope of this line?

A It is the simplified ratio of horizontal : vertical side lengths of each
triangle.

B. It is the simplified ratio of vertical : horizontal side lengths of each
triangle.

C. Its absolute value is the simplified ratio of horizontal : vertical side
lengths of each triangle.

D. Its absolute value is the simplified ratio of the vertical : horizontal
side lengths of each triangle.

5. Which shows the graph of the equation y = ~x - 3?
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A 3
=-—x+3
y=T3
B. ¥y=—2x+3
C. 3
=_—X+3
Y=3
D. y=3x—2
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7. Two similar triangles £ABC and AEDC are shown on the grid.

Which of these proportions has ratios that are equal to the slope of AE?

A AB  DE
co EC
B. AL BC
DE chD
c. BC chD
AB DE
pD. BC _CD
AC ZE
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8. Points L, N, P are collinear on line fin the coordinate plane. Triangle LNQ and Triangle NPR are
similar.
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Which ratio equivalent to—=demonstrates that the slope of line fis the same between any two

distinct points?

A ON
RFP
B. MR
FR
c. IN
PN
D. FR
NR

9. Which shows the graph of the equation y = 2x - 4?
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10. What is the equation of the line with a y-intercept of —10 and a slope of 3?

A y=-10x-3
B. y=-10x+3
C. y=3x-10
D. y=3x+10

- Which choice shows the graph of - %;H. 27?
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12. The graph shows the line y= mx.

=

If the y-intercept changes to (0, 10), what is the equation of the new
line?

A y=10mx
B y+ 10=mx
C. y—10= mx

D.  y=(m+ 10)x
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13. Which is an equation of the line graphed below?

Y
Iy
6
t4
*3
+2
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“=6 5 4 3 2 -1 0] "1 *% %3 ¥4 75 7 "X
1
~2
3
4
5
L&)
¥
A y="4x+ 2
B. y="2x+4
C y=2x+4
D. y=4x + 2
14. What is the equation of a line with a y-intercept of -5 and a slope of 8?
A y=8x+5
B. y=8x-35
C. y=—5x+8
D. y=—5x-8
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15. Which is an equation of the line graphed below?

n:n-.IF \

A y=25x+5
B. y=25x-2
C.y=04x+5
D. y=0.4x-2

16. Which graph shows the line of the equation y = "1.5x - 4?
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17. Which is an equation of the line graphed below?
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8. A line is graphed below.

ANG .

*

B 765432100 *1+2*3*4+*5*6*7*8

A

What are the coordinates of another point the line passes through?

A (79, 8)
B (1,0)
¢ (6,72)
D. (8, 74)
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19. Line m, . OIWR, and, TTj’77are shown on the coordinate grid below.
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Which statement is true?

A Triangle QWR is similar to Triangle TWV.
B. Triangle QWR is congruent to Triangle TWV.

cC. The slope of line m can be found using the proportionE = E
OorR WV
D. The slope of line m can be found using the proportionﬂ = E
WR IV

20. Which is the graph of the equation y = x + 37?
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21. What is the equation of the line shown in the coordinate plane below?

LT

A

L]

A y=6x
B. y=—8Bx
C. y:lx
D. y=—lx
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22. Which is an equation of the line graphed below?
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23. Which shows the graph of the equation y = 72x + 3?
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24. What is the equation of a line that goes through the points on the graph
below?

y
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1
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A y=X
B y=x-3
C. _1
= 3X
D y=3x
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25. Which is the equation of the line on the graph below?

*6
*5
+q
3
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L +1
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Y

4
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76

Ay=2x+1
B. y=2x-2
C y=x+1
D. y=x-2

26. Which equation represents a line having slope 2 and y-intercept (), — 4)7
3 :

5
A y=—4x+ -
2
5
B. e
C. 3
V=—-x—
ST
D. y=——"x+4
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27. Which is an equation of the line graphed below?

Y
*6
+5 /
4
*3
*2
N
o - - - - - - -_._X
6 7574 73 2/0 *1 *2 *3 *4 *5 *g
-1
-2
~3
4
-5
6
Ay="2x+1
B.
y = ix +1
2
C.y=2x+1
28. Which is the graph of y = 3x — 77
A
A
8
7
+5 1
+5 =T
L1 | 14 __....-"‘"'-F
| e
3
'--I ||
- |
- 77675 7473 '?'l_il T 7273 4 75 16 17 7 | X
~2
[ . . . e S — _3 e -
—4
-5
e
-7
8
b
EE.6 Schoolnet NEW Page 27 of 78

schoolnet



+g
+7
+5
+5
+4
+3
]

*1

b
¥
>

"B -7 "6 "5 4 -3 "2 -1 0 t1 +2 +3 +4 +5 +5 +7

=2
-3
-4
-5
"6
=7
o

*8
7

+& f
*5
+4

i /

*2

¥
>

"BT7 675 "4 73 -2°1 0| +1+f +3 44 +5 +5 +7 48
—2
2
-4
-5 /
"B

-7

EE.6 Schoolnet NEW Page 28 of 78
) schoolnet



BT7 67574737271 +1 HINt3 14 45 *6 47 48 X

29. On the coordinate plane below, triangle PQR is similar
to triangle RST. The corresponding side lengths of triangle RST and
triangle PQR are in the ratio of 3:1.

What is the equation of the line containing the points P and T?
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30. Which of these statements is true of triangles FGH and HJK in the graph
below?

'
L
-

H
The absolute value of the slope of the line is equal to %

FG
The absolute value of the slope of the line is equal to K

C. Because triangles FGH and HJK are similar, the slope is the same
between any two distinct points on the line.

D. Because triangles FGH and HJK are not similar, the slope is found by
using two distinct points on one of the triangles.
31. Which is the graph of y = "x + 37?

A y

L

| L | e
k] +2 +3 +4 +5 +6§

EE.6 Schoolnet NEW  Page 30 0f 78
a schoolnet



=

+5

4

+2
*1

10
-1

2+

5 +

-2

-3

=4

-5
-6

=l
+5

+4

+3
+2

*1

2+

3+

4 +

5 +

EE.6 Schoolnet NEW

Page 31 of 78
Q schoolnet



D. . . . 1%

£
6 - -
. | | +5 | |

™ |
3 e

i 2 : ;
. I N . ) ! /
" - X

=6 "5 74 73 "2 "1 0 +1 +243 +4 +5 +§
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32. Triangle JNM and Triangle LPK are shown below.
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Which statement is true?

A Triangle JNM is similar to Triangle LPK.
B. Triangle JMN is congruent to Triangle KLP.

C. The slope of line q can be found using the proportion‘al‘l!?"fr e E
JN KPP
D. The slope of line q can be found using the proportion. i) 2E E
MN IFP

33. Which graph shows a line with a slope of ~3 and a y-intercept of =77
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34. Which graph shows the line of the equation y = 2x — 6?
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35. Which shows the graph of the equation y = 2x + 4?
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6 -5 -4 =3 -2 “10| +1 +N3 +4 +5 +§
1 -1 Ly 1
=2

A y—Sz—%x
B. e
y+i= 3
S y=—3e-9
D. 2
y=—3&+3)

37. The slope of a line is —5. Which of these could be the ratio of the vertical

side length to the horizontal side length of a right triangle whose
hypotenuse is formed by this line?

A 5.2
B. —5:2
Cc. 15:3

D. —15:3
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38. Points J, K, N are collinear on line fin the coordinate plane. Triangle JNR and Triangle KJT are
similar.

Which proportion demonstrates that the slope of line fis the same between any two distinct

points?
A MR _JT
JR KT
B. MW _IJ
EN KT
c. JR KT
NR & JT
D. JE KN
JT T RN
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39. Which is an equation of the line graphed below?

A G &
\

+
Lad

+

-2
=3
=4
-5
-6

A y=2x+ 2
1

B oy= Zx+ 2
2
-1

C. W= x4+ 2
2

Dy = "2x+ 2
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40. Which is an equation of the line graphed below?

\ & |
& |
+L||

=6 5 4 -3 -2 10| *1 *2*3 *4 5 *6 |

A y=2X
B y=x+4+2
C.y="x+2

D. y = —-2X

41. Which choice shows the graph of y = 0.5x + 2?

A 1%

7
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2 t3 4 +5 *5 7 4@
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42. Which shows the graph of the equation y - _%X _ 27

A

8
7
6
5
+4
3
-~ 2
AERa==ulk Ly

“B-7 65 432 -.._t;‘_+‘2_:3 +4 +5 +g +7 48
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43. The graph below shows two similar right triangles with both of the
hypotenuses of these triangles falling on the same line.

NI IET E] 2 | a | ¢ a | 10

A AEEE

What is the equation of the line?
A y=-2x+85

B. ¥=2x+E§

Cc. y=-—2x

D. ¥=2x

44. Which is the graph of the equation j - _§x+ 6 ?

A y
. +6

4 4 +5

+3 M
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+ : \

6 -5 -4 -3 -2 ~10| *1 +2 +3 4 +5 +6
L L1 -1 L1 1
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-5
-6

EE.6 Schoolnet NEW Page 45 of 78
Q schoolnet



+5 N,

+3
+2

A
+q Y

+

“6 75 T4 73 72 710 +1 +2 +3 +

-1
N\
— \

5 *6

-3
B \
-5
~6

6 T5 4 73 72 710 +1 +2 +3 +4 +5 +§
-1
4

-3
=4
-5
-6

EE.6 Schoolnet NEW Page 46 of 78
Q schoolnet



-1
-2

67574 7372 710 +1 4243 44+

-3

4

-5
~6

45. Which is an equation of the line graphed below?

10

4!

343 4+

-1
-2

-3

=4

-5
6

A y=3x+4
B. ,_ 1

W= 3><+4
C. 1

W= §x+4
Doy="3x+ 4

46. Which is the graph of y = x - 2?
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47. Which is an equation for the line graphed below?

A y= T34 2
B. ,,_ 1

W= 3><'+2
c. ,,_1

V= 3,><+2
D y=3x+ 2

48. Which is the graph of the equation y = 2x — 3?

A y
4
6
+5
4
o /
- /
i 1 i +1 / 1 | i
“=65-4-3-2-10 +‘v 3 13 14 +5 76 |~
- - - 4 a ..._1 / " — e N—
-2

%

|+
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49. What is the equation of a line with a y-intercept of -3 and a slope of 5?

A y=-3x-35

B. y=-3x+5
C. y=5x-3
D. y=5x+3

5. Which is the graph of the equation y — _%Xur >7?

A

A\
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6 "5 "4 -3 -2~
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3 43 44+
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51. In which graph do all of the plotted points lie on the liney = x + 2?
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col Chpuwiae ool
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52. Which choice is a correct equation for the line graphed below?

-

i K Ld B L O

e e TR B T 'I:-=-J'r
A y=3x+1
B y=2x+1
C. 1
y=5X+ 1
D. 1
==x+1
y 3
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53. Which is an equation of the line graphed below?

el

i

SN

4

y=§X+2
B y=§><+2
c y=_§><+2
D- y=_§x+2

54. Which graph shows a line with a slope of 2 and a y-intercept of 1?

A y

-
+6
4+5 — e
+4
+3

.+1 o —

"6 -5 -4 -3 -2 -10 \tl +2 +3 44 +5 4G
3 ___\ .

-2

-3

=4

6
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+5

+4 "{
+3
+3 /

C -6 -5 =4 -3 -2 -y'u +1 +2 +3 +4 +5 +5
—-1

/1
/.
Y/

+5
+4
+3
+2
+1

=6 -5 4 -3 ~2 “1 | *+1 +2 +3 +4 +5 +6

-2
-3

2\
6 \
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D'. . y

r
G
+5
g
| o/
: 2 /
A

S 767574 7372 71 0)/ 41 42 43 +4 45 46

/

+

55. Which is an equation for the line shown on the graph below?

y

A
*5
¥5
*a
13
+2

+

AN x

" -6 -5 —4 -3 -2 10| *1 *3 t4 *5 tg

~1
-
-
~d
g
6
Y
3
A= x4
2
B 2
= =-x+1
v 3
C. -2
= —x+1
¥ 3
D 3
= —x+1
¥ 2
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56. Which graph below shows the line for the equation y = 2x + 4?

A y
] r

el
+5
+d4
+3

+

£

*1

B 7574 T3 72 710 +1 +2 +3 0+ +6
: -1

-2
-3
=4
-5
-5

+3\%~|

+2

+1 \

6 ~5 4 3 —.2 “l10f t1 +tA +3 t+4 +5 +6
-2
TN
=4
-5

EE.6 Schoolnet NEW Page 60 of 78
schoolnet



=
+5
+4
+3
+2
*1

6 "5 74 73 "2 710 +1 F2 +3 +4 +5 +§
-1

-2
-3

-6

=]
+5

+2
*1

6 "5 74 "3 F2 "1 0 +1 +2 +3 +4 +5 +§
-1

-2

=4
-5
-6
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57. Which graph uses, PJ Jand \JisRto demonstrate a slope ofi?
- 3

A y
L F :
i
LY &
\ K,
L
\\:,
G-r {{ L
IEEE }\ 234 x
N \‘1 |
3 N
=i
N
£ b,
R
5 *\4’5
| 1
1R 5
B. ¥
7
'
EnSLemraEt
1
P |
[E T . e ] o *
1 = s
nl Jq H ‘-h:::ﬁ
Q o
5
ﬁ
7
C. y
?
: P
- - BRI |
T =t e
|
i reeaadddit
ot
1 *
L5 ol
=i
5
ﬁ
7
D. y
2 o
-
6 yd
Q . X
o AP
LA
4
IEEEY -!I 23 4 *
| f_,N
M
L
v amp
/: 4
e
L )
| 5
¥ i
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58. Which shows the graph of the equation y = 2x — 67?

A y
»
+H

HE ..)s,c._._ 1 NN

+5
+4
3
+2
N T

TETFCBT5 T4 "HRT2 10 +1 4243 4445 ¢

m—
¥
~4
1
¥
>

™y
-

8777675 74737271 0] +1 4243 4445 BB
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*B

alf

+2
*1

"87 675 47372710 14243 +4 45 6 +7 8

=2
-3
-4
-5
"6

]

8
+7 -l"
6

+5 f

+4
+3

+2 f
#

"B -7 "B°5 4-3-2-10] t1 +2 f3 +q +5 *5 +7 18
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59. Which is an equation of the line graphed below?

" -6 -5 ~4 -3 -2 5 6

A y="4x+4
B. y=x+4

C. y=4x+ 4
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60. Which is an equation of the line graphed below?

>

+3
+2
L1 |

v
=

T =43 "2 %1 0] *1 *2 +3 +4

—4
¥
A y=2x-3
B 1
= =x-3
y 2
C. ~1
= —x- 3
¥ 2
Do y="2x- 3
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61. Which is an equation of the line graphed below?

Y
L)
s /
7
6
+5 JIIJ

+g
=3

+2
+1 IIIlr

8TV TBETS T473 72 "1 1 +2 +3 4 5 TR T R

b
L J
>

: -7
8
J k4
A y=3x
Bo yw=x+3
C yw=x-3
D.
V= 2
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62. Which is an equation of the line graphed below?

Y
*6
*5
+4
/
+2 X
+1
ai- - p - - - -_._X
6 75 "4/3 72 710 *1 %2 *3 *4 *5 46
-1
-2
-3
~4
-5
~6
]r
A y="3x+3
B y=x+3
C. y=3x-3
63. Which choice is the graph of y = 72x + 4?
A y
4
o //'
+5
;Z{
+2
A
, / dx
6 °5°4°3/2 10 ‘14243444546
/ -1
t -2
/ —1-3
—+-4
ARREN
/ 1 “6
b
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4B

+5

+4

+3

*1

2-10

-1

1 +2 +

3+

-2

-3

=4

-5

-6

Nog

+3

+2

*1

2-10

-1

4 +5 +6

-2

-3

=4

-5
-6

“6 "5 74 -3 -

7 -

1 +

2+

4 +5 +6

¥
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64. Which is an equation of the line graphed below?

y
E
+E- -
-
+5 '/
+4
/,(3
A
'_/ +1.
675 ~4 3 2 10 °1 "2 '3 "4 5 76 "X
i bl |
7 1
2
—3
~4
-5
6
A 5
= —x+ 4
V=3
4
Boy=Ix+ 4
5
4
C y= Ix+ 4
5
D. ~h
y= X+ 4
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65. Which is an equation of the line graphed below?

Yy

3

"%
+5
+4
+3 /
2
1

"6 -5 4 -3 "2 "1 0| *1 %2 *3 *4 *5 6 |

-3
-4
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66. Which is an equation of the line graphed below?

4

3

6

+5
+4

*3

*2

T

2710
— ....-1_

2

~3

-4

-5

6

A y=3x+1
By ="w+3

V= —x+1

h
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67. Use , psr and p re/p in the graph to answer the question.

-~

Lo
>

A
oo
~
&)
o
2
W Tuw
‘I\.IJ
p ool oW
A= e
[\ 8]
N
N
N
o
|
oo
Y
- 4

i
X
JI

Which statement is not true?

Y ARST~ ATUV
B- —
—— represents the slope of
ST RV
oy —
represents the slope of TV
U
> RS TU
ST uv
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68. A town’s buildings were graphed on a coordinate grid.

F re Ftaitlnn

Town Hall

=
g
o
<

CI079 "B 77 "6 5 4 "3 "2 "1 (f +1 +2 +3 +4 45 3§ +7 +8 +9 +10

F10

A 2 28
= =X+ —
4 3 3
B T 1X n 53
4 8 8
C. 3
W=—=x+9
5
D 1 g9
==X+ —=—
¥ 8 3
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69. Which is an equation of the line graphed below?

y

A
+6
+5
+4
- +3
~. 3

\ﬁ_}.l
P4

6 -5 "4 -3 -2 10 +2 +3 *t4 +5 +6
-1

-2
-3
-4
-5
-6

A

A

C. 1
y ==
2

70. Annie was given two pieces of information and must write the equation of a line. She knows the
line crosses the y-axis at the point([].= S)and has a slope of — 4. What is the equation of the line?

A y=5x—4
B. y=-35x+4
C. y=4x-5
D. y=—4x+5
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71. What is the value of x in the graph below?

'y

72. Which graph shows the line of the equation y = “4x + 2?

¥
4

&

6 "5 "4 "3 "2 -1‘ t1 42 +3 +4 45 46
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10

2+

3+

4 +

5 +

-1
-2

-
T

-3

=4
-5

-6

—
e

=
+5

+4

+3
+2

*1

10
-1

2+

3+

4 +

5 +

-2

-6
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+6
+5 -!

Slf

+ 24
“6 <5 "4 3 -2 “1fo| +1 +2 +3 +4 45 +6
1
2
f( —3
f =4
-5
L=5 1 -
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